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Part L. Multiple-Choice Questions

L. Assume the Fed has complete control aver the money supply If the demand for money is greater than
the supply of money, we would expect

&, " an increase in the quantity of money supplied, a decrease in the quantlty of money demanded, and
an increase in the rate of interest,

b. adecrease in the quantity of money supp]led a decrease in the quantﬂy of money demanded, and
an increase in the rate of interest.

¢. -adecrease in the quantity of money demanded and a decrease in the rate of interest.

d. adecrease in the quantity of money demanded and an increase in the rate of interest.
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2. Ifthe Fed purchases Treasury bonds on the open markct 1hcn '

a. the monetary base will decline.

b. the money multiplier will increase.

¢. bank reserves will increase, -

d. the required reserve ratio will increase,

Use the following table to answer the next twe questions. .

1287 1993
Price  Quantity Price - Quant]ty
Stereos | 500 . 75 1,000 100
Television 2[}0 : 100 400 150

3. Using 1987 as a base-year, rcal GDP in 1993 equalcd
a. $160,000 b, $80,000. e 357,500 d. $115,000.

4. Production between 1987 and 1993 changed by
a 39%. b. 51%. ¢. 100%. d. 150%.

Use the following information to answer the next two questions. The equations below describe the
relationship between shares (measured in percent) of spending in GDP(Y) and the interest rate (i), also
measured in percent. _
(C7Y)=66 - 0.251,  (UY¥)=20-1.25i,  (X/Y)=4-05i, (G/Y)=18: Suppose the interest tate is
determined at the point where national saving rate equals the total shares of investment and net export.

5. Then the equilibrium interestrateis _ % and the share of net export (XM)is %,
a. 4,3_,1;42.-0.2,'3 d. 2, 4 '

6. Suppose the government share (G/Y)-increases in extra 8 %. The share of investment will change
%? o
- bh. 3 ¢ -3 d. -§

7. Suppose, fora gwen economy, C=500+0.65¥ and X=1,900-0.25Y (C is consumption, ¥ is income, and
Xis net export). The multiplier for this economy is
a.  Notenough information is given. b. 6.7 e 12 | d 167
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Using the table below, answer the following three questions.

Year Price Level Real GDP (biilion Mﬁn&y Supply Velocity
of 1987 doliars)

1987 4,540 : 2,917
1988 4,719 3,078 1.59
1989 © 4,838 3,233 1,63

8. Velocity in 1987 was :
a. Not enough information is given. = b. 156 e 064 d. zero. . ...

9, The price level in 1988 was :
a. 1037 b. 109 e, 091 d. Not enough information is given. g

10. The raie of inflation between 1988 and 1989 was :
a. 50%. b, 4.5%. ¢ Notenough information is given. ¢ 1.09%.
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11. The natural rate of unempioyment is
a. the unemployment rate refated to the business cycle.
b. the unemployment rate when the economy is in a boom.
c. the unemployment rate when feal and potential GDP are equal.
d. the unemployment rate when reat and nominal GDP are equal.

12. Students entering the labor force for the first tine in June results in
a. 4 seasonal increase in unemployment.
b. acyclical increase in unemployment.
€. aseasonal decrease in unemployment.
d. no change in unempicyment.

13. Which of the following is most likely to oceur if a country adopts an export-led strategy?
a. More resources will be allocated for producing goods to be used for domestic consurnption.
b. Laws limiting imports from abroad will be passed. .
¢. Trade with other countries will be'increased.
d. export subsidy will be canceled.

Using the figure beiow, answer the next two questions,

Year GDP Price Deflator

1950 113.6
1991 - - 118.2
1992 1221

14. What was the rate of inflation in 19917
a. 18.2percent b. 4.0percent ¢ 39percent d. 7.0 pe:;-qent

15. What happened to the rate of inflation between 1991 and 19927
a. Itincreased. b. There was a deflation. e. It stayed constant. d. There was disinflation.
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16 Assume velocity stays constant and reaj GDP growth averages 2.5 percent per vear. [f the central
bank increases the money supply by 4 percent per year, what will the average annual rate of inflation
be? : '

a. 65%. b, 1.5%. ¢, 2% d. 4%

17. Which of the following best expizins what is meant by the term crowding out?

a. lncreases in consumption expenditures, by causing interest rates to rise, result in a decline in
investment expenditures, .

b. Anincrease in investment, by causin g interest rates to rise, results in a drop in government
purchases. _ :

¢ An increase in consumption expenditures, by causing interest rates to rise, results in a decline in
government purchases,

~d.  Anincrease in government purchases, by causing interest rates to rise, results in a decline in

investment expenditures,

18. Structural unemployment occurs because

a. of economic boomns,

b. people have insufficient skills.
€. ofrecessions.

d. it takes time to find a job.

I9. If Central Bank prints money to finance a $100 billion defieit, then

the money supply will increase by $100 billion.
the money supply will decrease by $100 billion.
the monetary base will increase by 100 billion.

the mongtary base will decrease by $100 billion.

e f e

20, Assume the price level doubles in Germany and rises by 75 percent in the United States. To remain
consistent with purchasing power parity, the German mark must

a.  appreciate 25 percent against the U.S. dollar,
b. appreciate 50 percent against the 1.8, dollar,
¢. depreciate 25 percent against the U.8. doltar.
d. depreciate 50 percent against the U.S. dollar.
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I.The following equations summarize the structure of the c;qmnjgdity market (only containg C and [}. 1
C=100+0.8Y, | |
I=]60-4i, ' . -
where ¥, C, [, and { stand for income, consumption, investment, and interest rate, respectivily.
The demand for money is M< /P =03¥ -12i. The money supply is M° =600, |

Ak

() Derive aggregate demand equation P=D(¥) A5%)

Let L' =-10 + (% / P) be the aggregate labor supply and ¥ =70L ~ L* be the aggregate prdduction
function of the economy. Assume that the goods and labor markets are perfecily eompetitive.

(b) Derive aggregate labor demand curve, 1L* = L 1Py {3%)

(<) What is the éqﬁilibrium level of employment of the ccanomy?  What is aggregate supply
equation? {4%2) _

() Use the abﬂv.e information to derive the equilibrium levels of £, ¥, ¥ and /. (4%)

(e) 1f the money supply increased to 900 from 600, what would P, W, ¥ and 7 be? Pescribe the
economiic implication to this behavior of maroeconomy. (4%)

2. Consider the behavior of an individual who lives two periods. In the first, he carns dividend income,
consumes and saves {or borrows), In the second, he receives another dividend payment and returns
from first period saving, he then consumes all the proceeds. Importantly, he is able to lend and borrow
freely at the market rate of interest. Let D, and D, denote first and second period dividend mcome,
¢, and C, first and second peried consumption, S* saving, and r the gross rate of interest. The
individual’s problem is to choose C,, §” and C, to solve:

max logC, +Hlog(, (1)
st. C; =D -8* (2)
G, =D, +rS | | (3)

with 0<f@<1. (Theparameter j is the individual’s subjective discount factor) Further, the
individual takes D,, D, and r asa given.

(i} Derive the individual’s supply curve for saving (a relation between 8" and ) (8%).
(i) What are the effects of changes in D, and D, on §7 Briefly explain (6%).

{iif} Derive 2 refation for the optimalC,. Suppose thai 3, and D, adjust in way that keeps the
present value of lifetime earnings (0, + 0, /r) constant. What is the effect on C|7 Briefly
explain. What must be true for this { type of) result 1o obtain in general? (6%)
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